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The conductive tissues of the upper leg can be modeled as a 35-cm-long, 16-cm-diameter cylinder of muscle and fat. The
resistivities of muscle and fat are 13 Om and 25 Qm, respectively. One person's upper leg is 82%muscle, 18% fat. The
resistivity of the whole leg will be a weighted average of the resistivities of muscle and fat. This is not the same as treating
the system as two resistors (one made of muscle and the other of fat) in parallel; the muscle and fat are mixed together, not
separate side by side.

Part A: 'What current is measured if a 1.9V potential difference is applied between the person's hip and knee?
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